H2.8 29 H2 3 31
H2.8 29 H2.3 31
H4. 3.31
1 Onc
1 Onc 3 Ot
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H2.8.29 H24.3.31 < >
(A (B Al'B
OP4+ 453m(TP) | OP+5 (T8 .)8 m OP+4 (TB+H2 .)8 MOP + 4 (T3Pw 3).|Am10| OP+6. g m
<. 231m> <3.0m> <2.0m> <2.2m> 1558 8.0m
OP4+ 453m(TP) | OP+4 (T8 .)4m OP+4 (T8 .)2 mMOP+ 4 (T6Pw 3).|®8m92 OP+5. I m
<. 231m> <2.6m> <2.4m> <2.5m> 129 7.2m
OP4+ 453m(TPmM) | OP+4 (B8 .)2m OP+4 (TB#8 .)2 mMOP+5 (TOP® 3).|Dm92l OP+5. I m
<. 23 1m> <2.4m> <2.4m> <2.9m> 129 6.6m
OP4+ 453m(TP) | OP+5 (T8 .)8 m OP+4 (TB+H2 .)8 MOP + 4 (T3Pw 3).|Am10| OP+7. $fm
<. 231m> <3.0m> <2.0m> <2.2m>]| 155 8.1m
OP5+ 46 3m(TPom) | OP+5 (T8 .)8m OP+4 (TB+8 .)2 mOP+ 4 (T8P® 3).|Am3 3] OP+5. I m
3. 24 Im> <3.0m> <2.4m> <2.7m> 171 6.6m
H4 .. 29 (TP+o )
ar P +.2m <>
( )
( ) ]
1m 3 Ont 1m 2m 5m
0 0
0 0 0
0
30 20 20 10 0
0
0
30 20 10 0
0
0 0 0 0 0
0
20 10 0
10 30 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0
0 0 0 0
0 0 0 0
50 30 20 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
40 20 0



( Hi2 829) (Ha 331
( ) ( )
344,30
59, 000 16, 000 700 100 260, 000 337, 000
2 2341 5 2 2346
8,528 4 8,532
7,300
9, 60
3,000 2, 400 10 2,100 300 7,700
99 0 99
57 0 57

2,100




T.P+4 O.P+44 53

22 31
4
T.P.+0.9 O.P+2.2
T.P. Tokyo Peil
1.3
O.P. Osaka Peil




